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QUESTION 1

Which of the following best describes an OSPF Type 3 LSA?

A. A Type 3 LSA is generated by an ASBR only when route summarization is configured.
B. A Type 3 LSA is generated by an ABR only when route summarization is configured.
C. A Type 3 LSA is generated by an ASBR to describe routes to routers outside the area.
D. A Type 3 LSA is generated by an ABR to describe routes to routers outside the area.

Correct Answer: D

QUESTION 2

How are LSPs acknowledged on IS-IS broadcast links?

A. The LSP is acknowledged by sending a PSNP PDU.

B. The LSP is acknowledged by sending an LSP PDU.

C. The LSP is acknowledged by sending a Hello PDU.

D. LSP are not acknowledged on broadcast links. The DIS sends periodic CSNPs to maintain database synchronization

Correct Answer: D

QUESTION 3

Which of the LSA types stay within an OSPF area and are not exported outside of the area? (Choose all that apply)
A. Router LSA

B. Network LSA

C. Summary Network LSA

D. Summary Router LSA

Correct Answer: AB

QUESTION 4

A static route needs to be configured with a next-hop that is NOT directly connected to the router. Which of the following
must be TRUE?

A. The router must also have an active static route to the next-hop specified in the static route command.
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B. The system address of the next-hop router must be included in the static route command.
C. The command option "indirect" must be used in the static-route command.
D. The system address of the router connected to the destination must be included in the static route command

Correct Answer: C

QUESTION 5

Which of the following is a characteristic of OSPFv2 that was NOT preserved in OSPFv3?
A. LSA flooding mechanism.

B. Totally stubby areas.

C. MD5 authentication.

D. DR and BDR election.

Correct Answer: C
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